LOR Maths Challenge

2006

Year 7

Question 1

How many edges does a square-based pyramid have? 

Markers use only:
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Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.


You may use any of this space for working out.
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Question 2

What is:
20%
 of 
⅔
 of 
£240

Markers use only:
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Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.


You may use any of this space for working out.
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Question 3

A train journey from Doncaster to Grimsby takes 1 hour and 5 minutes.

A train arrived in Grimsby at 3:30pm, which was 15 minutes later than its scheduled time.

At what time was the train scheduled to leave Doncaster? 

Markers use only:
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Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.


You may use any of this space for working out.
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Question 4

Which is the largest?
½ + ¼

 ½ - ¼

½ ÷ ¼



Markers use only:
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Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.


You may use any of this space for working out.
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Question 5

What will the 20th number in this sequence be?

1,  4,  9,  16, . . . . . . . .

Markers use only:

Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.


You may use any of this space for working out.

LOR Maths Challenge

2006

Year 7

Question 6

Put brackets into BOTH sides of this expression to make the two sides equal.


1 + 2 x 3 + 4  =  4 x 3 + 2 + 1

Markers use only:

Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.


You may use any of this space for working out.
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Question 7

The probability of it raining today is 0.23.

What is the probability of it not raining?

Markers use only:

Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.


You may use any of this space for working out.

LOR Maths Challenge

2006

Year 7

Question 8

The volume of a cube is 64cm3.   

What is the area of one of its faces?

Markers use only:

Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.


You may use any of this space for working out.
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Question 9

Work out the value of the following expression if

a = 1.2, b = -2 and c = 0

2a +3b +5c

Markers use only:

Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.


You may use any of this space for working out.
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Question 10

Work out an expression for the perimeter of the rectangle, simplifying your answer.






2a + b



                                                                               b

Markers use only:

Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.


You may use any of this space for working out.
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Question 11

There were 60 people at a barbeque.

1/3 of them were women.

50% of the REMAINDER were men and the rest were children.

How many were children?

Markers use only:

Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.


You may use any of this space for working out.
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Question 12

Find the value of x if

x + (x  + 2) + (x + 4) + (x + 6) = 32

Markers use only:

Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.


You may use any of this space for working out.
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Question 13

What is the size of the exterior angle of a regular hexagon?

Markers use only:

Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.


You may use any of this space for working out.
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Question 14

A quadrilateral has these properties:

· it has 2 long sides the same length;

· it has 2 short sides the same length;

· it does NOT have any right angles;

· it does NOT have reflective symmetry.

Write the mathematical name for this quadrilateral.


Markers use only:

Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.


You may use any of this space for working out.
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Question 15

The expression in the circle is the sum of the expressions in the rectangles opposite each other.  Fill in the missing expressions A and B.









Markers use only:

Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.


You may use any of this space for working out.
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Question 16

What are the next three numbers in this sequence?

1,  3,  6,  10,  . . . . . 

Markers use only:

Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.


You may use any of this space for working out.

LOR Maths Challenge

2006

Year 7

Question 17

Find the area coloured black in the following square. 

                                                               


Markers use only:

Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.


You may use any of this space for working out.
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Question 18
There is 60g of rice in one portion.

How many portions can be made from a 3kg bag of rice?

Markers use only:

Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.


You may use any of this space for working out.
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Question 19

What is the size of the obtuse angle between the hands of a clock when it shows 1.30?
Markers use only:

Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.


You may use any of this space for working out.
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Question 20

What is the value of



24 + 42

Markers use only:

Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.


You may use any of this space for working out.
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Question 21

If  a = 2 and b = -3 work out the value of

2a – 3b + ab

Markers use only:

Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.


You may use any of this space for working out.
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Question 22

The star is made from four

triangles like the one shown.

Calculate the perimeter of the star.

Markers use only:

Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.


You may use any of this space for working out.
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Question 23

Three consecutive even numbers total 36.

What is their product?

Markers use only:

Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.


You may use any of this space for working out.
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Question 24 

The mean of two numbers is 5; their range is 6.

What are the numbers?

Markers use only:

Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.


You may use any of this space for working out.
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Question 25

Find angle x


                                                                      x

Markers use only:

Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.


You may use any of this space for working out.
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Question 26

Solve the equation
2(x + 3) = 15

Markers use only:

Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.


You may use any of this space for working out.
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Question 27

The areas of three faces of a cuboid are 15cm2, 18cm2 and 30cm2.

What is the volume of the cuboid?

Markers use only:

Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.


You may use any of this space for working out.
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Question 28

The rule for a sequence of numbers is:

“The next number is the sum of the two previous numbers.”
Use the rule to write in the three missing numbers.
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Markers use only:

Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.


You may use any of this space for working out.
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Question 29

Complete the function machine for the given output of 30.



12.3                     x3                                                        30.9

Markers use only:

Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.


You may use any of this space for working out.
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Question 30

The two spinners are spun

and the numbers are added.

What is the probability of an

even total?

Markers use only:

Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.


You may use any of this space for working out.
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Question 31


The pattern is made up of  

two sizes of squares.

What is the length of the 

side of the small square?

Markers use only:

Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.


You may use any of this space for working out.
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Question 32

The distance from Grimsby to Liverpool is 240 kilometres.

If 5 miles is approximately 8 kilometres find the approximate distance in miles from Grimsby to Liverpool.

Markers use only:

Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.


You may use any of this space for working out.
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Question 33

The points A, B and C 

are equally spaced on the 

straight line.

What are the coordinates

of points B and D?

B (    ,     )     D (     ,     )

Markers use only:

Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.


You may use any of this space for working out.
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Question 34

A is the ‘tens’ digit and B is the ‘units’ digit.

Find the missing digits.

323  x  A7 = 1518B

Markers use only:

Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.


You may use any of this space for working out.
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Question 35

What fraction is half way between one quarter and one half?

Markers use only:

Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.


You may use any of this space for working out.
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